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B % oKW ﬁ \T.ou‘i log(h—0.37) W §log(h— 0.37)}% ¥ BQ \ logQ logQlog(h— 0.37)
1| 109 | o72 | —o14267 | 0.02035 119.4 2.07700 —0.29693
2 | 124 | 087 | —0.06048 | 0.00366 178.1 225066 —0.13612
3 | 130 — 0.93 ~ —0.03152 | 0.00199 1728 2.23754 —0.07050
41130 1 093 | —003152 0.00199 190.8 2.28058 —0,07188
50 136 . 099 | —0.00436 0.00002 209.2 2.32056 001012
6 | 1.72 m 1.35 _ 0.13033 ! 0.01699 3278 | 251561 0.32786
7 | 186 | 149 | 017319 | 0.03000 400.7 2.60282 0.45078
8 | 192 | 155 | 019033 ! 0.03623 421.0 2.62428 0.51112
9 | 205 168 & 02231 | 0.05077 492.4 2.69232 0.60660
10 | 257 W 220 | 034242 0.11725 784.7 2.88349 0.98737
i1 | 258 © 2921 . 034439 | 0.11860 768.7 2.88576 0.99384
Hw,w%mwéw gﬁuw 0.14870 893.0 2,95085 1.13789
e o W 152103 | 054656 | e | 3032147 4.42916
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® OB KL G| P B R(Q) Q50| lyQ—50) | 4o lo(Q-50) | (Q—a0pTeT _a HQ— 502
1 H‘Mu» 23716 ww%» 270.4 2.4320067 0.9761430 0.444 _ 14,544
2 1.56 2.4336| 3255 275.6 2.4401216 0.9783968 9.616 A‘ 14.843
3 1.60 2.5600| 336.8 286.8 2.4575791 0.9853966 9.669 | 15470
4 1.62 2.6244| 339.8 289.3 2.4613484 0,9869030 9.703 | 15.719
5 1.68 2.8224) 376.5 326.5 25138832 10079724 10.185 ' 17,111
6 1.73 2.9929| 388.6 338.6 2.6296870 1.0143092 ! 10.335 h 17.880
7 | 1.75 3.0625; 390.5 340.5 26321171 1.0152836 ! 10.358 _ 18,127
8 L2.06 4.2436| 4945 4445 2.6478718 1.0616985 11.526 ! 23.744
9 “ 2.10 44100 504.9 454.9 2.6579159 1.0657241 11.634 m 24,431
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10 213 gazuga 4705 | 26725506 | 10718997 | 11702 L 25117
11 255 650250 G313 5873 | 27688600 . 11102085 12.880 32867
12 272 7252 . 6752 | 25294324 11344958 | 13.630 37074
12 2.75 7311 6811 | 26332109 | 1.1760108 13,678 . 37615
14 986 | 81796 8413 | 7913 | 2.8983412 1.1621256 14.526 41542
15 290 84100 808.0 ' 7580 | 28796802 | 11546388 | 14277 | 41408
16 3.00 | 90000 8684 8184 MS§%W 11679894 14723 44169
17 305 | 92025 9183 8633 | 29386693 | 11782958 | 15.076 L 45982
18 310 961000 9495 8995 | 20540012 . 11844431 | 15291 47402
19 317 97344 9766 | 0266 | 29668023 11896120 | 15474 48219
20 345 11.9025 11385 10835 | 30363284 | 1.2176537 16506  56.946
21 360 ' 12.9600 12405 11905 | 30757204 | 12832516 |  17.110 L 61596
22 368 | 195424 12800 12300 | 30033367 | 12403315 ﬁ 17.391 L 63.999
23 400 | H?oocodu+cr» 31605881 # 12672769 | 18.504 | 74016
24 420 17.6400 | 1646.1 3.2030601 # 1.2843064 r 19.244 ' 80.825
# 6275 179.8027 | oo R I B = 1) | 900701
po 0hQ—so) —0M@—s0)k) _62.75 x 900701 — 1708027 x 322.470 _ | o
1 1 62.75 X 322.479 — 24 X Q00.701
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# 2494
0= _./Am\...m\muu “ HA n XmHN.M%.w_.omo 55 v =25.374 (loge = 1.4043268).
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